a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

H H H i

10 15 20
Vertex z (cm)

G(0 X) (um)

Ratio

10

1.UD!

C ]

-5
Vertex z (cm)

a(0 x) tor merged vertices (um)

Ratio

|
a1
UIE

—=— DQM_mKFit_TT_base
—— DQM_mKFit_TT_retrain

10?

10

1.2F
11

10 15 20

Vertex z (cm)

10 15 20
Vertex z (cm)

o(0y) (um)

Ratio

0(0 z) (M)

Ratio

Vertex z (cm)

10° =

10°E

L.UD!

10 15 20
Vertex z (cm)

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

iy

TR FEEEE FAETI FEETE FEETE FETTE PR SR
o

-

0.95/

5 10 15 20
Vertex z (cm)

10°E

10%

il

10 15 20
Vertex z (cm)



	Contents
	Page 1


